5.3 EE - NiE. 2HNEEEMA
(= -2 )
1. din(seikanf); BUFE ZRIEE

obs 1081

R2C 0.57

HEETHARD  [1991-2013

2016 FEEHERE

®E tE

[din(seikand3) 0.789 47.396 [#*x*

2. din(kumiaif); 15 EZERIRFL

obs 1081

R2C 0.06

HETHARY  [1991-2013

2016 EEHTERE

®E tiE

[din(kumiaid3) 0.484 8.394 [¥x*

3. din(kokuhof); EREEFRIEHE

obs 1081

R2C -0.11

HEETHARS  [1991-2013

2016 EEHERKE

RE tiE

[din(kokuhoc) 0.286 16.054 |***

4. din(kyosaifs); *iFHE GEEARE) RIEH

obs 1081

R2C -0.27

HEETHARY  [1991-2013

2016 EEHTERE

RE tiE

|d|n(kyosaifsd) 0.239 13.202 [***
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5. In(kaigof); T EERIEH

obs 611
R2C 0.99
#EETHARS  12001-2013
2016 FEHEERER
R¥ tfiE
Constant 0.966 4,768 |***x tiEE
0.607 3.289 [#kx =58
0.632 3.475 [#*x [TESC]
0.894 4.794 [wrx = i 15
0.549 3.021 [##x FEE
0.641 3.543 [#xx e
0.771 4.146 [wrx EEE
0.971 5.156 |#** e
0.956 5.239 [x*x HAE
0.851 4585 [#*x BER
1.192 5.999 [+kx BEE
1.080 5.464 |*¥* FEB
1.792 8.440 |*%% BRRED
1.230 6.009 [k HE)E
0.760 3.946 [H¥x EE
0.727 4.025 [¥%k EWLR
0.730 4.057 |Hokk aIE
0.657 3.772 |#%% EHE
0.659 3.811 [H¥x ITET:]
0.775 4.088 [#*x EBE
0.884 4.765 [#rx I8
1.059 5.442 |*¥x BEE
1.345 6.669 [dkx ZHE
0.803 4.333 [#rx =EE
0.847 4779 [#%% HER
0.870 4557 [¥xx AR
1.282 6.160 [#*x KR RF
0.998 4.951 [#rx EEE
0.704 3.935 |Hxx =BE
0532 2.958 [kx ML
0.476 2776 |*%% BmE
0.484 2.749 [#%% SiRE
0.765 4.061 |H¥x ELLE
0.885 4574 [#xx LEE
0.680 3.674 [wrx fiT=]:!
0.488 2.751 [**% EER
0.668 3.759 [x*x FIE
0.612 3.300 [#*x BIEE
0.461 2.609 [#rx Erl!
0.932 4.626 |*¥x EEE
0.584 3.324 [k EER
0.602 3.248 [#¥% RiFE
0.641 3.399 [#¥x BEAE
0.594 3.274 [**xx Ko E
0.615 3.414 [*%% EiFE
0.563 2.993 |Hokk ERER
0.624 3.481 [¥xx hiBE
|kaigodummy -0.075 -8.077 [k
In(kaigok) 0.845 52.903 [**x
6. din(rmedkkk); HEEEERFT (ER-—H&. BBE. HEHGD)
obs 705
R2C 0.67
HESTHARS 11999-2013
2016 FEHERER
R¥% tfE
[Ikoup 0.063 58.110 [k
[din(PRMKK4) 1.044 23.636 [*%*
7. din(rmedkk); HEERMRT HEREBZERMIILESS)
obs 705
R2C 0.17
H#EETHARS  11999-2013
016FEEHTHR
B B
[Ikoub 0.003 1.834 [*
[din(PRMKK4) 0.773 12.204 [#%x
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8. din(rmedk); & AR

obs 705
R2C 0.83
HEETHARY  [1999-2013
2016 FEHTEHE
LE3:d i
Constant -0.003 =3.316 |¥¥x
din(PRMKXXX) 1.077 9.767 [#kx dtifmiE
1.178 9.812 [##x EHE
1.082 8.712 |skx EFE
0.910 7.923 [#%x BEHE
1.001 7.866 |Hkx BEE
1.126 8.779 [wkx WifiziR
0.908 7.251 [skk ‘ER
1.055 9.625 |¥*x TR
0.996 8.761 [#kx HAE
1.022 9.001 [k HEER
1.005 11.039 [#k* BER
1.010 10.820 [#kk FEE
1.037 9.686 |**x RRE
0977 10.349 [k #E)E
0.997 8.186 |skx R
1.197 10.252 [+okk =LE
0.953 8.413 |skx Al
1.093 9.142 [#%x BHE
0.954 8.048 |%kx ITETTY
1.048 8.673 |#*x RHE
1.034 9.137 [#kx I 218
0.977 8.860 |skx HEE
1.065 10.569 [+k* B
1.009 8.702 [skx 88
0.995 9.244 |%%x BEE
0.932 8.685 |skk SUERRF
0.957 9.621 [Hkk KR FF
1.064 9.898 |#kk EEE
0.973 9.196 [skx =RE
0.951 7.840 [%kx FIILIE
1.112 8.973 |¥*x BIUR
1.006 7.930 [#kx BiRE
1.073 9.184 |skx FELLIE
1.017 9.108 [#*x LER
1.178 9.728 |#kx whog
1.468 12.004 [#%* (LT
0.927 7.804 [k FNIR
1.121 9.234 |¥*x FIER
1.271 10.246 [+okk S8
1.159 10.490 [%okk =mEE
1.251 10.176 [+%* EER
1.078 8.754 |skx EI5E
1.228 10.073 [#k* AR
1.073 8.891 [Hkk KB
1.186 9.936 |skx BIR
1.258 9.901 [#kx ERBE
1.289 11.727 [k ihHBIR
IKOUD -0.043 —4.986 [xkk
-0.044 -5.178 [whk
-0.040 -4.743 |k
-0.035 -4.058 [k
-0.029 —3.486 |xokk
-0.031 -3.680 [okk
-0.027 -3.235 [whk
-0.042 -4.869 [xokk
-0.035 -4.137 [wokk
-0.030 -3.492 [xxx
-0.054 -5.868 [xhk
-0.053 -5.820 |%kx
-0.060 -6.761 |wohk
-0.051 -5.607 [wkk
-0.034 -4.065 [k
-0.043 -5.161 |wokk
-0.036 —4.250 [k
-0.034 -4.008 [k
-0.026 -3.046 |xkx
-0.027 -3.175 [wohk
-0.032 -3.723 |wkk
-0.044 -5.010 [sokk
-0.049 -5.529 [whk
-0.034 -4.000 [k
-0.027 -3.120 [whk
-0.032 —3.695 |xkk
-0.047 -5.170 [shk
-0.039 -4.472 ok
-0.035 -3.955 [sokk
-0.026 -3.084 [xpk
-0.026 -3.199 [sokk
-0.020 -2.450 [xx
-0.035 -4.187 [wokk
-0.035 -4.132 [wohk
-0.027 -3.181 [xokx
-0.047 -5.587 |whk
-0.024 -2.863 [whk
-0.034 -4.040 [k
-0.020 -2.457 [xx
-0.040 -4.619 [wokk
-0.035 -4.233 |whk
-0.040 -4.739 [xxx
-0.035 -4.144 |k
-0.030 -3.548 |xorx
-0.027 -3.128 [wokk
-0.025 -3.035 [xhk
-0.026 -2.954 [wopk
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9. din(kaigok); I EEFA{T

obs 611
R2C 0.70
EHHARY [2001-2013
2016 FEHTEHE
£ B
[din(p65) 1.382 32.716 [k
[din(nintei) 0.784 39.213 ¥k
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(ZRYF4E)

1. din(konenf); EAFERIER

obs 1081

R2C 0.51

HEETHARS 11991-2013

2016 FEHTEMEE
3 HiE

din(konenfd) 1.032 5.861 [dokok dbimiE
0.989 6.940 [%kok EHRE
1.143 7.547 |s¥x EFR
0.733 5.628 [%kok =HE
0.902 6.143 |sokok MEHE
0.903 6.262 |Hokok i
0.986 6.771 |Hkx BEIE
0.839 6.094 [¥xx RIFE
0.733 5.448 |¥xx HAR
0.754 6.128 [*x* HEE
0.955 6.789 |Hkk BER
1.117 6.437 |*xk FzE
0.962 6.038 [*ok RIRER
0.946 6.034 [%k )R
1.039 7.315 |sk% Hing
0.959 6.706 |Hkok ELE
0.980 6.745 |sokok HINE
1.026 6.139 [#xx BHE
1.037 6.551 |*kk ITETY
0.810 5.836 [*** EHE
0.975 6.055 [Hokok I 212
0.887 5.696 [*k B3R 2
0.885 6.512 [%x* BB
0.883 6.548 |sxk =58
0.908 6.324 [%kk HER
0.735 5.405 [%sk AT
0.767 5.081 |#k b
0.824 5.937 [#kok EER
1.040 7117 [sokk ZRE
0.926 5.952 |#kx I e
0.948 6.440 [*%x BERE
1.019 6.463 [*x* SRS
0.831 5.843 stk FE LR
0.969 5.805 [k N1
1.038 6.283 [*kk AR
0.834 5510 [#kok mEE
0.862 5.855 |dokok FNE
0.774 5.406 |%k BIEE
0.817 6.348 [¥ok =8
0.938 6.566 |Hkk 2R
0.965 6.936 [*kk EBER
0.940 6.015 [#%* Ei5E
1.044 7.096 [*** BEAE
1.142 7.139 [#kx AHE
0.922 6.591 [Hokok =iFE
1.059 7.018 [sokk BERER
1.499 10.580 |s%* R
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2. In(kokunenf); EIRFERIEH

obs 1128
R2C 0.98
H#EETHARS  [1990-2013
2016 FEHTERE
E3 &

Constant 3.282 5.583 sk dtimE
2.595 4.680 [#¥x HHE
2.572 4.652 [xkx FEE
2.844 5.019 [#%k ERE
2.411 4.396 |*%xk MEE
2493 4538 [**x I
2.720 4.834 [¥x* =ER
3.085 5.389 [#kk TR
2.773 4.925 [%%k AR
2.870 5.099 [¥x* HEE
3.581 6.027 [Hx* BEE
3.504 5.935 %%k FEE
4.075 6.695 |*%k BRRAD
3.666 6.114 [**x* FEINE]
2.874 5.073 [k EE
2.284 4.166 |*k% =g
2412 4.387 [¥¥x BINE
2.105 3.895 [¥x* BHE
2.318 4.273 |#*% T
2.844 5.046 %%k EHE
2.891 5.129 [#%k Iz B2 1
3.216 5.565 |k EBEE
3.597 6.053 %k BHE
2.728 4.866 |*¥x =E8
2.403 4.344 |¥xk HER
2.867 5.031 [¥x* SERAF
3.594 5.994 %%k KB AT
3.282 5.587 %%k EESR
2.478 4.467 |*xk ZRE
2.423 4.436 |*¥x FNILE
1.813 3.403 [¥%x SmE
1.951 3.632 ¥k SRR
2518 4.485 [¥¥x & L2
2.862 5.010 [%x* LEE
2.404 4.333 [sokk =]
2.030 3.757 |#xk EER
2.200 4,031 [¥¥x FINE
2.520 4544 |x¥x BIEE
2.070 3.839 |#ok e
3.163 5.409 %k =EE
2.197 4.057 |#kx EEE
2487 4.485 |¥¥x RIBE
2.751 4.917 [sokx REAR
2.191 3.986 |#k AHE
2.332 4.253 [F%k EIFE
2.485 4.455 [sokx ERSE
2.222 4.023 [¥%x ERR

In(kokunen 0320 | 13342 |soex

*p2064)
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3. dinkyosaifl); #FHE (REEE) RixH

obs 1081
R2C 0.49
#EEHHARS  [1991-2013
016FEEHTFRHR
mE | dE
[din(kyosaild) 0.686 | 36.328 [%xx
4. din(konenk); BEEEEHHRT
obs 1081
R2C 0.33
#EEHEARS  [1991-2013
2016 FEHTEHE
£ tE
din(p65%konenro) 0.816 6.815 ¥k dLiEE
0.977 7.746 |k BEHRE
0.999 7.809 [k EFE
1.067 8.860 [k EHE
0.881 6.802 [*kx AR
0.926 6.695 [k Rz
0.932 6.976 |*** EEE
1.153 9.165 |#kx R IE
1.018 7.849 |**xx HARE
0.999 7.591 [%k BES
1.006 10.212 [*xx BER
1.077 10.517 |xkx FEE
0.815 6.830 ¥ HEHR
0.829 8.118 [#*x =118
0.922 6.594 ¥k 1]
0.890 6.260 ¥ =LE
0.947 6.659 |*kx BINE
0.936 6.665 |*** BHE
1.151 8.044 [¥*x T
1.058 7.387 [¥k EFE
0.931 7.255 %k IR B IR
0.963 7.850 [k FRE R
0.867 7.674 |kxx BHE
0.977 7.440 [k ZER
1.104 8.799 [k HEE
0915 6.776 ¥k AR
0.767 6.841 |*xx KERAF
0.816 6.362 |*x EEER
1.048 8.731 %k ZRE
0.851 5.910 [k LR
1.006 6.851 %k SmE
0.940 6.237 [k BiRE
0.952 6.686 |**x fiE] Ly I
0.866 6.282 [*** LEE
0.832 5.708 |*¥x ii]=]=}
0.877 6.354 % mEe
0.939 6.495 |*** EFE
0.795 5.576 |*** BIEE
0.840 5.686 |*kx I=%311E)
0.745 5.785 |¥* ERE
0911 6.172 [k EER
0.661 4.638 %k RIGR
0.900 6.415 [*** BEAE
0.990 7.008 |*kx AHE
0.883 6.713 [** e
0.958 6.494 ¥ EREE
1.456 11.854 [k PERR
5. din(kokunenk); ERELA T
obs 1081
R2C 0.55
#EEHEARS [1991-2013
2016FEEHTFRHR
mE | dE
[din(p65%kokunenro) 1521 ] 110.745 [#k*
6. din(kyosaik); #FH& (REAZE) 64
obs 1081
R2C 0.11
HEEHHARS [1991-2013
2016 FEEHTEHE
wE | dE
[din(p65*konenro) 0.340 | 13.320 [*xx
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